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Q. No. 1 carries 1 mark each .
1 () 1x4 =

4

1) 1x2 = 2

1 () Ix2 = 2

Q. Nos. 2-6 carry 2 marks each oy 2x5 = 10

" Q. Nos. 7-11 carry 3 marks each ' ‘ 3x5 =15
Q. Nos. 12-18 Earry 5 marks each ‘ 5x7 = 35
Q. Nos. 19-22 carry 8 marks each » 8x4 = 32
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1. (a)
(b)

Fill in the blanks with appropriate word/words : o 1x4=4
ToHTE *AE anﬁ“l‘aﬁ %7 390 ¢

(i) v Unrec01ded hablhtles when paid are debited to

Account.
oS oA e v I, cofeom __ fRptefs (oo
9 A '
(ii) Life Membership Fee is a -receipt.
SIS e WpE (2 o1 |
‘(iii) A partner acts as_-__ _ of the firm.
e SRR AfSHRR T fRpist BN FE |
(iv) A company is required to pﬁblish its __every year.
OB @ S TRA T o SR =
Choose the correct alternative : ' 1x2=2
| % Tewhl A 9 8

30T ACOU

(i) When anew partner does not bring in his share of goodwill in

cash, the amount of premium is debited to.: |

o wga ST G C\fsawu\xi:mwﬁa FIRIGE, cofoat
e e okt T =W

(1) Premium Account

fafim 2

(b) Cash Account
o T2l

[2]



(c).

(c) Capital Account of new partner

T SR e {251

(d) Capital Account of old par'mer
'1ﬁ§ﬁ*ae$MR@”§ﬁaafﬁﬁﬁl

(i) Financial statements are :
6 fRgfera =1 ¢
(1) Summarised reports of recorded facts

‘ ﬂﬁTT@‘SQYRFﬁ:ﬂJ%wzefﬁﬁwa
(b) Detailed reports of recorded facts
aﬁﬁg§<sﬂmm¥3ﬁﬁ$5eﬁﬁﬁﬁﬂ
(c) Summarised repo.rts of only cash transactions
caa?iﬂﬂW'bﬁﬂmwa‘ﬂgﬁafﬁﬂ%ﬁ@ LIS

(1) None of the above.
@ofe @Ble T

Gtate whether the following statements are “True” or “False”
: | 1x2=2

| iﬁﬁa'aﬁﬂ'ﬁﬁﬁﬁﬂﬁséﬁﬁ GRS RGEIR

. 30T ACOU

(i) - Subscription received in advance is an asset.

_vﬂaﬂawzaa@ﬁiiﬁﬁéﬁivr»mﬁ1

(i1) Interesf onvdeben.turre is payable only when a company earns

prof1ts
GﬁrwﬁﬁhxrFws‘u@ﬁqzﬁ%Uﬁts=mqﬂaa\sﬂa-'aﬁ'ﬁWszﬁm'zﬂu

[3] _ Contd.



2. Mention fwo differences between Receipts and Payments account and

Income and Expenditure account. " = 2
Tl A6 {2515 Wi -3 i e g7 sAieky S 4
3. What is Premium for Goodwill ? 2
TR A oim &2
2

4.  Give two situations under which a partnership firm is dissolved.

SN AT eI =7 o/ 75 ARRS S w4

5. A, Band C are partners sharing profits in the ratio 3:2: 1. A retires. B and
C have decided to take up A’s share equally. Calculate the new ratio. 2
A, BEIF C-93:2:1 TIo0 e {939 I | A-T PR 229 TR | B WiE
C-9 A TSI T ©oiiE @RI B o | g e 3571 smoire Hef i |

6. Name any two items of current assets. 2

 Rizzeren 751 sfere iR A o)

7. Mention three uses of financial statement.

R efowmm A <R S 1)

8.  What is common size statement ? Mention its two uses. - 1+2=3

Wzﬁwﬁwm 75 AARE S I |
OR/W

Current Ratio is 3-5:1 and Quick Ratio 2:5: 1. In\}entory is ¥ 50,000.

Calculate current asset and current liabilities. 3

BIeTS SANS 3.5 : 1 Wi O WRppAS 2.5 11?@3%@:11%5000015{%—?@{%
G TS mﬁﬂﬁ‘m‘?{ fRef = |
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9. Explain the super profit method of valuation of goodwill. | 3

T LT S 1S Awfs et 7

10.  State three features of Not-for-profit organisation, : 3
TS SIS oy 9 ot Fofr ey S <t
- OR/ 71zt |
Calculate the amount of subscription to be credited to Income and
Expendlture Account for the year ended 31st March, 2019. -3

2019 51 31 N6 G TR SF-T f2olore (@ ih sRama «@ﬁa sif{=a
Refa =11

(i) Subscription received during the yeaf ended 31st Ma'rch, 2019,
T 2,50,000. :
31st W6 2019 © o s T oo cw«@ﬁa s 250000?m|
(i) Outstanding subscnp’aon onl.4.2018 — ¥ 50 OOO
1. 4. 2018 ©IfRte 20 Wiy w6 50,000 511
1 .(iiz'), Outstanding subscription on 31.3.2019 — 3 35,000.
| 31.3. 2019 ©ifIT ¥ Wele I 35,000 Bl |
(iv) Advance sﬁbscription on 1. 4. 2018 — ¥ 25,000.
1. 4. 2018 wiffte wifaw e <efa 25,000 5= |
(v) Advance subscription on 31. 3. 2019 — ¥ 30,000.
31. 3. 2019 OifFt WA e T98fH 30,000 T |

11. - What is gaining ratio ? Give two distinctions between gaining ratio and

L

sacriflcing ratio. ' 1+2=3
.@Wmmen—wﬁs?ﬁﬂqrwwﬁrm@mwmm 7o
ofi2fy Tt | -

30T ACOU [5] Y i



What is Ratio Analyéis ? Mention any three uses of ratio analysis.

OR/ 73

wee Ror e swpiie Rosat A b aage S |

2+3=5

15.  Ram, Shyam and Mohan were in partnership sharing profits and losses in

the ratio of 3:2:1. On 31. 12, 2018 Shyam retired from the firm, Balance

Sheet of the firm on that date was as under :

2+3=5

3, mes-z-mion—m- cawvm%aasﬁw%@ammaﬁ
wifeE 1 31. 12, 2018ﬂﬁmmﬁwwwwmmi‘ﬂﬁrﬁm
@WWWW@WW

Balance Sheet (353 @)

Liabilities ((#) - (®) Assets (74f@) ®)
Sundry Creditors 5,000  Cash (5% %) _ 600
(RRy sihemR) Debtors (@ I9R) 15,000
Reserve (szif@) 6,000 | Less :. Provision 1,500 13,500
Bills Payable (2t Re) - 2,600 (ifefe) ,
Capital (F@%) 8 Stock (g 447 18,500

Ram =~ 90,000 | Furniture (SI5313) 8,000
@) Machinery (Ig#iif) 20,000
Shyam 115,000 ‘
=)
 Mohan | - 12,000 47,000
(Crz)
60,600 60,600
[9] Contd.
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Additional information :

wfsfee oy ¢
(i)  Outstanding subscription Z 1,000.

(it)

- (iii)

SR e A 1,000 50 |

60% of the admission fees and the whole of the life membershxp
subscriptions are to be capitalised.

TP MR 60% mwﬁawwwﬁmfﬁ@?—ﬁamm

Depreciation on Books % 600.
fFoieia eoiTe SRR ARSI 600 Bl |

", OR/ 7z

What is the meaning of Fund Based ‘Accbunting? Mention any three
principles of Fund Based Accounting. ' " 243=5

Afe ol Rotivaeit el 2 sffafeles iR R fomo s S w1t

13. X Ltd. ‘made a profit of 25,00,000 after considering the following items: 5
X-ffhre wo fRamergz iy F919 f512e 5,00,000 T3 Are et Ree 8

@)

(i)
(iii)
(iv)

(v)

30T ACOU"

Preliminary expenses written off — 5,000
el T ATt A — 5,005
Dep1ec1at10n on fixed assets — %50, OOO
7 eI o — 50,000 Bl

Loss on sale of machinery — ¥ 20,000
Tgelife R #[1 (A @R — 20,000 T
Provision for doubtful debts — 210,000
W?ﬂ‘ﬁwgﬁﬁ]ﬁw— 10000%‘?151

Gain on sale of Land — 37,500 : T - -
off et 3R Al = — 7,500 5
] R _ Contd.



Position of current assets and current liabilities :
tfere Trife o vfere (iR wRiEf ¢ :
(o ™ 2017 (%) 2018 (3)

Debtors (@HWR) | 52000 78,000
Bills Receivables (2l =) : 15,000 12,000
Prepaid expenses (i mzﬁﬂ) : 2000 3,000
Creditors (sle=wI) ' 40,000 51,000
Bills Payable (2it7a fRe1) 19,000 12,000
Expenses Payable (S8 JjH) : 34,000 - 20,000
- Calculate cash from operating activities. |
A I o 7o e sAfne fefm
OR/ Zat

What is meant by “cash .equivalent_s”? Mention any three obje&ives of
preparing cash flow statement. ' 2+3=5

“So TG mﬁsqmmmwmaﬁwmwﬁmmﬁﬁﬁr
WWWl U

" 14. Calculate the values of opening and closing stock from the fol]owing.

information : # : 5
e SUReRl SRS OiF AR TS AR R R s

Cost of goods solld — ¥2,00,000

(Rt =t AT FTLET)

Stock Turnover‘Re'ltio — 8 times '

(sre_r-rrcna GRET TAS) — (8 IN)

Stock at the beginning is 1.5 times more than the stock at the end.

W@ﬁﬂq@wmmﬁwwmw s @RI

30T ACOU [8 ]



What is Ratio Analysis ? Mention any three uses of ratio analysis.

OR/ 7%t

SRS o R Sepaire R A 5 Tag Sem o

2+3=5

15. Ram, Shyam and Mohan were in partnership sharing profits and losses in

the ratio of 3:2:1. On 31.12. 2018 Shyam retired from the firm, Balance

Sheet of the firm on that date was as under :

2+3=5

| W,WWWB:Z:IWWW—WQﬁﬁﬁWQ%@mﬁ
, wﬂ%m.u.zmsmﬁmma%émwwmwnﬁwﬁ%m

TG “fa weTe Al «weid wifee ¢
' Balance Sheet (¥5@ #13)

Liabilities (W) € Assets (7@) ®)
Sundry Creditors 5,000 | Cash (%717 1) _ 600
(RfAe =ireamiz) Debtors ((F@MR) 15,000
Banérve (",ﬁ) | 6,000 | Less :. Provision 1,500 13,500
Bills Payable (2it7d &) 2,600 (if%fe)

Capital (F&) ¢ - Stock (FS i) . 18,500
Ram ' 20,000 - Furniture (W) 8,000 .
() Machinery (3241f$) 20,000
Shyam 15,000 '
=) |
Mohan _ 12,000 47,000
(crZ=)
60,600 60,600
[9] Contd.
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The terms of retiremeqt were :
SRR HOME IR ¢
(i) Goodwill of the firm to be valued at ¥ 12,000.

fSUINT T TEIRT 12,000 Tie w4t 33|

(ii) Machinery to be appreciated by ¥ 5,000.
TGAINST =7 5,000 Biez I «A 1

(i) Furniture to be depreciated by % 1,000.

- S JFH 1,000 5 SRR 29
(iv) Provision for bad debts to be increased by % 400,

SERTR W4 S 400 T 3 4 TR
Prepare Revaluation Account and Partners’ Capital Account.
AR 19 S ST Jore i ergs 31|
OR/ 73

What is share ? Explain diffefent types of shares. 243=5

Teeiofg e RS eoRe Sivias Ui &1

16. What is Profit and Loss Appropriaﬁon Account ? Why is it 'prepared?
| ‘ 2+3=5
- EIS @RI Soltaren Zhiel e @ fRpie e erge w@?

30T ACOU [10]



OR/ 73

Ajoy, Bijoy and San]ay were partners in a firm sharmg profits in the rat10

of3:2:1. On 31st March, 2019 their Balance Sheet was as under : 5

o, Rew Wi Jgm 3:2: 1 wvnwvﬁsﬁww@ Q4 AfSHIR SR
et | 31st W5, 2019 wiffws (OSEIT ST weTe Al 4<e wifea o

Balance Sheet (T5@ *ig)

Liabilities (¢wt) ®) Assets (74f%) ®)
Creditors 4,000| Building (S%) 20,000
(FreeTrra) : Machinery (IZiif©) 16,000
Reserve 6,000 _ .
(Rew ) Stock (IS #4) 5,100

" Capital : Debtors (AT ) 6,000
GFe) Cash at Bank (@S ) | 6,900"
Ajoy - : 24,000 - -
~ Bijoy . : 12,000 .
Sanjay : 8,000 44,000
54,000 54,000

Ajoy died on 30. 9. 2019. Under the partnership agreement the executors of

a deceased parmer were entitled to:

30-9. 2019 wifx® Ajoy- I3 = | pfewe o wofviR Rt s o7 o

(a) Amount standing to the credit of Partner's Capltal account.

xﬂm«qamfima@ﬁas—wmlw )

(b) Interest on Capital @ 12% p.a.
IR 12% T TR 8270 7o |

30T ACOU

(1]

Contd.



(©

(d)

Share of goodwill on the basis of 4 years purchase of last 3 years

average profits.

fRere o 9299 5C weq Bk I8 @7 R T 9 FFINT S |

Share of profit from the clésing of the last financial year to the date
of death on the basis of last year’s profit.

ﬁﬂ—wmﬁﬁmﬂaﬁ?ﬁﬁﬂ—wmﬁmﬁmww

e)

SR Frel X |

Profits for the last three years were :

Rt o q%a3 e wifRe ¢

Year /T | Profit / sT®
' (2)
2016 - 17 o 8,000/ -
. 2017 - 18 * 12,000/~
2018 -19 7,000/ -

" Prepare Ajoy’s Capital Account on the date of his death.

Ajoy-T I SRS (963 it i ege 3|

17 What is dissolution of partnershlp ? How does it differ from dlssoluhon of
firm? ' o _ 2+3=5

WWWE@?W«W@IWWW?Wﬁ%?

30T ACOU
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OR/ 7t
Dipali and Ra]shn were partners in a firm sharmg profits and losses in the
ratio of 3 : 2. They decided to dissolve their firm on 31st December 2019,

when their Balance Sheet was as under

5

fAsifeTt e et 3. 2wm—m~mwaa%awawﬁmwﬂm
WifRe | (OSTES 31 Rvpaw, 2019@@@%%%%%@ e
COSTEIR Tgesia wae famie wia Wi ¢

Balance Sheet (35@ *f@)

Liabilities (¢#t) ®) Assets (7if%) ®
Capital : Land ($f¥) 16,000
() 2 Investments (RAzI) 4,000

" Dipali 18,400 .

E;PEI!]; 8 ' Sundry Debtors - 2,000
A e ’ (RRy m=wiE)
Sundry Creditors 2,000 | '
(R e ) Stock (&S =447 ) 3,000
Cash at Bank (@3% W) 6,000
31,000 31,000

Investments are sold at 3,800. Other assets realised as follows :
Land — 28,000, Sundry Debtors-— ¥1,800, Stock — %2 ,800.

Creditors agreed to accept 5% less Expenses of realisation amounted to

< 400.

RiTIsZ 3,800 Bevte e

W8

@iwmmr%mwﬁqumw

tzﬁ—zs,oooﬁasr ﬁrﬁqmma—mooﬁasr mr:f%—zsooﬁam’
: ﬁmwws%whmwmmwwwﬁmmw

|

Prepare Realisation Aceount, Partners’ Capital Account and Bank Account.

e 251, ST e Boist Wik @5w Rorel e |

30T ACOU
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18. Explain the following terms : (any two) . 2%+2Ya=5

o SR G R ¢ (R 75
(i) Calls-in-advance (S&™ Wﬁ){) .
(i) Under Subscription (T Wﬁ)

(iii) - Pro-rata allotment of shares (FTHIf$F SRD)

OR/ %3
Prepare a common size Income Statement from the following information :
_ ‘ | 5
S U A < SRS S i R o S 2 | '
®
Sales (ﬁéﬁ) _ =it p ik o8 = | 500,000
Cost of Goods s'om (Rf& w Al f ﬁW) —~ 3,78,000
.Op.erating Expenses (Wﬁ?ﬁ FINRE W) o o 62,500
Depreciation (S&F) e : T 22,()0()
Income from Ir-westment'l (RfRcsE «[i WT{I) | ‘ S " 70,000
i11come ’i"ax (TF9) L B ‘ 32,500

30T ACOU e (14}



19.

31st March, 2019 was as under :

Nanu and Manu are partners of a firm. The Trial Balance of the firm as on

8
mwmﬁam ﬁmw‘?ﬁwmw 2019 SR ﬁf%%mw@@ﬁmaa
OO WS Wifee ¢
Trial Balance (@‘ﬁ e o) ‘
_. Debit ® Credit ®)
Plant and Machinery . 50,000 | Capital :
Qe ) s
Goodwill (A1) 5,000 Nanu - — 40,000
Sundry Debtors 31,000 ‘ e ,
(Rfte =mR) Manu — 30,000 | 70,000
Closing Stock 20,000 e '
, , Sundry Creditors 10,000
(A g o4) (R nera)
Salanea (W) .7’000' Commission (W) 3,000 .
Depreciation on Plant and Sundry Receipts 500
Machinery 5000 | (Rfy =ife)
(TEAET 8oixe W) ;o Outstanding wages 600
Stationery (SCIRIST) 1,000 | (20w gR) -
Insurance (1) 2,000 | Interest on Investment 200
Cash in hand (%97 &=1) - 1,000 | (RRGR esme o)
Investment (ﬁlﬁm‘ﬂ) ' 10,000 Trading Account :
Drawings (S1gse) 3 (wr-Re f25ie) ¢
Nariu (71) 4,000 Gross Profit (5 &e) | 50,000
Manu (J) — 2000} . 2500 Bank Loan (39 %) [ 4,000
1,38,000 1,38,000

Prepare Profit and Loss Account, Profit and Loss Appropnanon Account
and the Balance Sheet of the firm for the year ended 31st March, 2019, after
considering the following information :

30T ACOU

[15]
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20.

. )
T wal ©ARTE RTaba FR 61 31 W6, 2019 SRS O 21 94 A v
FS-EIRIN Bpisl, TS-EsH oo Zpie S Tgeriadd o4Fs 1 ¢

(i)  Write off 21,000 as bad debt and provide 5% provision for doubtful
debts on remaining debts. '

1000 B3 SR 9 fBpnst ) T WS IF] B (MRS 89S 5%
HHRTHS A sl IR A |

?ii) Commission received inradvance 2 500.
wiE e wgRe R 500 Fet|

(iii) Transfer 10% of Net Profit to General Reserve.

A et 10% ARG fEts Zaes TRI A |

~(iv) Allow Interest on Capital @ 5% p.a.

2[R 5% R THE eoiFe @ «fFF awest| # i

Bijoya Limited issued 2,000 shares of Rs. 100 each at par, payable as

follows : _ : 8
On Application )

On Allotment — T30

On First Call - =20

On Final Call — 720 )

" All the shares were duly subscribed for, called-up and paid-up, éxcept

the following : )
(@)  Arnab holding 100 shares failed to pay first call and final call money.
(b))  Ayushi holding 60 shares failed to pay the final money.
All the above shares were forfeited after final call.

.

et foifihre @S2 100/- B TR 2000 < Sieiolg sars B 5 S

2T were il &[0 SRty R s 8
G @S . — 30/- 5 :
QRGeS — 30/- 5

YT TR AT — 20/- 5
FUI% ©eRT Fe — 20/- B

30T ACOU .  [16]



SRAAGRR A T i IR T O 7= Go) 4 T W
OO L N (@R I TR O 4 (o |

(@) 100 ¥ wxolg 4w oty U TR I FOIE ©ed 47 S e |
() 60 4T Se1ei 417F WIYHE o weRT € W e
AN FEE ool RIS o g Ao o 2|

Give journal entries in the books of the company to record the above
transactions. : '

oA T B SRk A1 @i 13 s @/ fa)
OR/ &t

(a) Mention three differences between’shares and debenture_s. 3

ST W AT AT DT i1 Ty

(b) lMention three uses of securities prérhium'. - | 3
el wiffee fOmb IR e <
(c) What is Authorised Capital of a company ? 7 . -

€O (P SIS e Wi e

21. Give joufnal entries in the books of PM Ltd. relating to issue of debentures
under the following conditions : 2+3+3=8

mqﬁaﬁﬁaa%w@@wvmﬁﬁ%wmm-ﬁmﬁﬁm

() 120, 8% Debentures of 21000 each issued at a discount of 5% and
redeemable at par.

120 B, 1000 SR 8% e1=1a 5% Grs R 07 Wi Tz ARty |

30T ACOU ' - [17] ' | ~ . Contd.



(b) 150, 8% Debentures of ¥1000 each issued at 5% discount and
redeemable at 10% premlum

150 B, 1000 & 8% auq‘via 5% i R @ i 10% BEEE
" offReitgR |

" (¢) 200, 7% Debentures of 2100 each, issued at a premjum of 5% and
redeemable at 10% premium.

200 %I, 100 SR 7% et 5% wfwﬁ%ww 10% TS,
AR |

OR/ M3

Explain different methods of redemption of debentures. 8

| eisfE sl Rfew s T

2, Jugal and Govind are partners in a firm sharing profits and losses in the
ratio 2: 1. Their Balance Sheet as on 1st June, 2019 was as under: 8

Jugal &% Govind 2 : 1 SIS T W e mm
SR | 1 T, 2019 Siffs WWWMT%RWW

: _ Balance Sheet (@‘@‘ /@)
Liabilities (¢%1) ® |  Assets (FfS) )

Capital : ~ - Goodwill | 12,000
(1) ¢ (FrD) |-

| Jugal . : 30,000 Sundry Assets 57,000

- Govind : 24,000 54,000 (RfRRy s71f®) |
Reserve (5ff&) 6,000 Cash at Bank " 6,000
‘Sundry Creditors rhins 12,000 (@@ w59 &) -
(Rfy Aremm) - |
Bills Payable \ ' 3,000
(efor et)

75,000 (- -—7%

30T ACOU ' | [18]



On that date Khirod was admitted as a new partner. He paid ¥ 30,000
. towards his capital but unable to pay anything for goodwill in cash. It was
agreed that goodwill will be valued at 3 21,000. The new proflt sharing
ratio among Jugal, Govmd and Khirod was agreed at3:2:1 respectively.

Pass ]ournal entries to record the above transactions and show the Balance

Sheet of the new firm.

, @W@W@@wawmw\%ﬁmﬁﬁﬁ%| c—eﬁw‘:ﬁw
fabitet 30,000 B0t wrn fice, R SR i (G Folw 4 SR iR | @2
Pa @t = mw«wmooo%arwz’mwaﬁawwﬂr
3: 21zaﬁ%ﬁwsmmqa|’

@Wmﬁfmﬁﬁawaﬁﬁﬁmw ﬁﬁm@wvra
gFo =1 | '

OR/ 731
(i) Mention any three features of partnership business. : 3
SRAWIT AR Rt ffbr iy Srera <
(i) Mention five distinctions between "Fiqu” and “Fluctuating” Capital.
: | . 5
23 w1 o ¥ R Srew Aty s S )

30T ACOU . i [19]



